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._ How the Economy
as a Whole Works

\ o Principle 8: A country’s standard of living |

Py : depends on its ability to produce
: ' E goods and services. e
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o AT BN Principle 9:  Prices rise when the government |

«I' N\ = prints too much money.

\ Principle 10: Society faces a short-run
\ trade-off between inflation and &

unemployment.
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In countries that produce a high level of goods and services

per working hour, people enjoy high living standards.
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In countries with poor productivity,

people endure a more meager

Some may think that the
activities of the labor union and
the minimum wage system have
raised the living standards of
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Likewise, the increase in productivity in a
country determines the growth of average There is a clear correlation
income of the people living in that country. between productivity and living
o standards, but people are
1o0 te2=100)  Productivity in the US often conf[’,se(‘,’,
1o Annual average of 3.2%
from 1996 to 2004
100
% Annual average
0 of 1.5% from
1980 to 1995
0
m T
% Productivity
1980

people living in the US.

However, it was productivity that
A brought about the biggest benefit to
A US workers. 2
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Some say that the growth in the income of Americans slowed down in 1970s and 1980s because of increasing
imports from Japan and other countries and the subsequent market competition.

/ But the fundamental reason
{ for the slowing down of income
growth was the decline in the

. productivity of US workers. ;

W A

Itis quite essential to
understand the correlation
between productivity and living
standards in order to understand
government policies.

In order to understand what impact government policies have on
peoplée’s lives, you have to think of theirimpact on the capacity to
produce goods and services.

YOUR TAXES
AVERAGE FAMILY INCOME - $20,000

| The best policy/to boost the:standardof:|
| armed with go'd e"c’iﬁi'f');rn_.'ent-and-b'e
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When the British:scientist James'Watt |mproved the steam
Bt
englne~c=very industry introduced.the’steam-engine.
0

The Industrial %
Revolution and
Employment

As a matter of fact, the principles

behind the steam engine were well | In the 1730s, the steamiengi
known across Europe but research | 0y Newcomen constimedig4 pounds of
and development had been done | €02/ Per horsepoxver. \

only in Britain. :

R R

It led to a huge increase in productivity ;
and shifted society from an agriculture-
based economy to an industry-based one.

) It was brought down to

~—just ajpound by the triple
e expansionisteam engine ship
in the late 19th century.

During the early days of the Industrial
Revolution, the price of cotton per meter
was 8 pence but it fell to 0.5 pence
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glcotton proguctsﬂ_pxgduc;%i in Bfitain.’carried lower; This led to the collapse of the
seitoihi ivity =t elou:csome of making cotton industry in India, bringing

i

vestments—India|had ne'o'therTchoice but to lower its catastrophic damage to those Indian
= E nojot |

India became

6 :!:C;Il;frg:‘ a cotton importer. Some v
i B i e spinning wheel-based People in Brltalp started to
Soars o A I businesses with low fear that machines wouId‘
5 million profitability survived but the replace humans as technological

innovation continued into
the future.

spinning and weaving
industry in general
collapsed.

India’s cotton

4 million Spaitvio

3 million /Y /
2 million
1 million — .—/\

1770 1790 1810 1830 1850 (Year)

So there came the Luddites who destroyed - gy When all the surplus workers look for jobs that yield
weaving machines.as.a.form.of:protest.Theref 4 better productivity, more diverse goods and services
were individuals or countries that suffered fromi| become available.
the development.of. machinery. L

a temporary
phenomenon.

This was proven by the fact that the Industrial
Revolution made people in England richer and led to
higher rates of employment.
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Such measures allow us to determine the welfare conditions of the people living in different parts of the world.

=\ Annual labor hours
Unit: Time (hour)
” OECD average: 1,766

; Average actual wage per year
Based on purchasing power. Unit: Dollar

5 OECD average: 41,253 5
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ihellaberproductivity data produced|by/@EED]in|
20j5]indicate]Mexico as the most unproductivelas)
Mexicansywork®@1.2 hours per week@nlaverage?;

People in Luxembourg
work 29 hours per week. With labor
productivity of 93.4 dollars, it grabbed
the top position in the ranking.

and Koreans work
40.7 hours per week.
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) Economic
Lecture

Across the world, the big gap in national income or
living standards over time usually results from change in productivity.
Productivity refers to how much products and services can be
produced by labor input. In a nutshell, people living in countries with
higher productivity are better off than those living in countries with

lower productivity.

Productivity is the most fundamental variable that determines living
standards while other variables such as labor union activities, minimum
wage system and competition with other countries are secondary.
Therefore, in order to understand the impact that government policies
have on living standards, one has to grasp the impact that such policies

have on the capacity to produce products and services.
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Principle

Prices rise when the government prints too much money.

¢ The Fall of the Roman Empire and Inflation
¢ Hyperinflation in Germany

¢ Bitcoin

e Economic Lecture
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One of the goals of
economics is to understand
how this invisible hand
works its magic.

Productivity refers to the efficiency
with which products are made. In a
nutshell, people living in countries
with higher productivity are better
off than those living in countries
with lower productivity.

Opportunity cost refers to
everything that you give up in
making a certain choice.
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